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PELVIS AND PERINEUM PRIVATE 

1.
The pubic crest:


a.
Provides attachment to the inguinal ligament.


b.
Provides attachment to the linea alba.


c.
Is located lateral to the pubic tubercle.


d.
Is the same as the pubic tubercle.

*
e.
None of the above.

2.
The following are true about the sacroiliac joints except:

*
a.
They are fibrous joints.


b.
Articular surfaces are provided by the sacrum and ileum.


c.
Rotation at these joints is prevented by sacrotuberous and sacrospinous ligaments.


d.
A small amount of movement is possible at these joints.


e.
Nerve supply is from the sacral plexus and posterior rami of the first two sacral nerves.

3.
The female pelvis is different from the male pelvis in that:


a.
The false pelvis is shallow.


b.
the pelvic inlet is transversely oval.


c.
The pelvic cavity is roomier.


d.
The pelvic outlet is large.

*
e.
All the above.

4.
The pelvic inlet (Brim) is bounded by all the following except:


a.
Pubic symphysis


b.
Pubic crest


c.
Ilio pectineal line


d.
Body of the first sacrum

*
e.
Sacroiliac ligament

5.
The pelvic inlet is different from the outlet because :


a.
The brim is almost made up of bone and the outlet is made up of almost ligament.

*
b.
The brim in females is oval shaped while the outlet is diamond shaped.


c.
The brim determines the shape of the pelvic cavity which the outlet does not.


d.
Only the brim is significant in child birth.


e.
In certain individuals, the brim, the pelvic cavity and outlet are of the same dimension.

6.
Regarding the ischiospine, the following are TRUE except :


a.
It is sharp and introverted in the male.


b.
It is flat and in the same plane with the body of the ischium in the females.


c.
It is important in estimating the pelvic outlet.


d.
The gynaecologists use it for pudendal block procedure.

*
e.
It is part of the pelvis which is commonly fractured when an individual falls on the bottom.

7.
As regards the stability of the sacro-iliac joint, find the FALSE statement:


a.
It depends entirely upon ligaments.


b.
There is no bony factor in stability.

*
c.
The bony surfaces are important for weight bearing particularly during pregnancy.


d.
The weight of the fifth lumbar vertebra tends to push the sacrum away from the symphysis.


e.
The bony surfaces so held in apposition are irregular enough to discourage gliding and rotation

8.
All are TRUE about the sacroiliac joint except :

*
a.
Is a primary cartilaginous joint.


b.
Is a synovial joint.


c.
In adult males, the joint cavity is obliterated in places by fibrous bands.


d.
Has ligamentous bands which are weak anteriorly.


e.
Its articular surfaces are lined by hyaline cartilage.

9.
The pubic symphysis, find the FALSE statement :


a.
Is a primary cartilaginous joint.


b.
Its bony surfaces are lined by a thin plate of hyaline cartilage.


c.
Centrally may have a tissue-filled space.


d.
Is reinforced especially below by ligamentous fibres.

*
e.
Is not lined by synovial membrane.

10.
The ischial spine, find the FALSE statement:


a.
Projects down and medially towards the pelvic cavity in males.


b.
Is crossed by internal pudendal vessels anteriorly.


c.
Gives attachment to coccygeus and levator ani muscles.


d.
It separates the greater from lesser sciatic notch.

*
e.
Membranous layer of the superficial perineal fascia attaches there.

11.
The pecten pubis, find the TRUE statement:


a.
Gives attachment to the conjoint tendon wholly.

*
b.
Gives attachment to both pectineal and lacunar ligaments.


c.
Is directly connected to the obturator groove.


d.
Is part of the inferior ramus of the pubis.


e.
Has the iliopubic eminence as part of it.

12.
Regarding ossification of the hip bone, all are TRUE except:


a.
Starts by three primary centres.


b.
The three component bones are separated at birth by a triradiate stem of cartilage.


c.
Complete fusion of the three component elements; ischium, ilium and pubis occurs during the 25th year.


d.
Secondary centres appear at about puberty.

*
e.
At birth, the acetabulum is bone.

13.
The ischial tuberosity all are TRUE except:


a.
Has an upper smooth part and a lower rough surface.


b.
Bears the transverse ridge that forms the boundary between attachment of hamstring muscles and ischial ligaments.


c.
It is associated with a bursa.

*
d.
It is partly covered by hyaline cartilage.


e.
It is what we sit on.

14.
Regarding the iliac crest, find the FALSE statement:


a.
It is internally concave in front.

*
b.
Its posterior limit is indicated by a dimple in the skin.


c.
It bears a tubercle which is its highest point.


d.
Gives attachment to quadratus lumborum and erector spinae muscles.


e.
Its anterior limit is at a lower level than its posterior limit.

15.
Regarding the diameters of the pelvis, find the FALSE statement.


a.
Anteroposterior diameter is also called true conjugate diameter.


b.
AP diameter is 100 mm in male and 112 mm in female.


c.
Transverse diameter is the maximum distance between similar points on opposite side of the pelvic brim.

*
d.
Oblique diameter is measured between sacroiliac joint and lower end of the symphysis pubis ilio pectineal eminence.


e.
Oblique diameter is greater in males than females.

16.
Regarding the lesser pelvis, find the FALSE statement:


a.
It is the 'true' pelvis.


b.
Its posterior wall is longer than its anterior wall.

*
c.
It is bounded antero inferiorly by the ischial rami.


d.
The 'wing' of the ilium forms part of its lateral wall.


e.
Guides baby into true pelvis.

17.
Regarding fractures of the pelvis, find the FALSE statement:


a.
Commonest cause is road traffic accidents.


b.
Fractures of bone commonly injure vital soft tissues in the pelvis.

*
c.
Commonly involves the ischial tuberosity.


d.
It may be combined with the dislocation of sacro-iliac joint.


e.
Isolated fracture of the sacrum is rare.

18.
Regarding Os inominatum, find the FALSE statement.


a.
Is composed of ilium, ischium and pubis.


b.
Of either side articulates directly with each other posteriorly.


c.
In anatomical position, the anterior superior iliac spine and the pubic crest are in the same coronal plane.

*
d.
Ossifies in membrane.


e.
Is smoother in females.

19.
The pelvis, find the FALSE statement:


a.
False pelvis helps to direct the fetus into the true pelvis.


b.
The lesser pelvis houses the rectum and distal parts of small intestines.


c.
Its anterior boundary is the symphysis pubis.

*
d.
Piriformis forms the lateral and posterior wall.


e.
Supports the pregnant uterus up to birth.

20.
Characteristic features of the female pelvis include:


a.
Inverted ischial spines and tuberosities


b.
Subpubic angle of less than 90o. 


c.
Heartshaped pelvic inlet

*
d.
Roomier


e.
Base of sacrum is narrow.

21.
The following statement on sacrum in the adult are TRUE except:

*
a.
Is covered with peritoneum on the whole of its pelvic surface.


b.
Contains cauda equina and filum terminale


c.
Has the gluteus maximus muscle attached to its posterior surface.


d.
Is shorter and wider in the female than in the male.


e.
Has nutrient foramen for its blood supply.

22.
The lesser sciatic foramen is associated with all the following structures except:

*
a.
External pudendal vessels.


b.
Pudendal nerve.


c.
Sacrospinous ligament.


d.
Sacrotuberous ligament.


e.
Tendon of the obturator internus muscle.

23.
Which of the following nerves innervates the gluteus maximus muscle?


a.
Pudendal


b.
Sciatic


c.
Femoral

*
d.
Inferior gluteal


e.
Obturator

24.
Concerning the right gluteus medius muscle, find the FALSE statement:


a.
Is usually contracted when standing on the right lower limb.


b.
Is an abductor of the thigh at the hip.

*
c.
Is innervated by the inferior gluteal nerve.


d.
Is essential for normal walking on flat ground.


e.
Is attached to the lateral side of the greater trochater.

25.
As regards the pelvic fascia, the following are TRUE except:


a.
The sacral plexus lies behind it.

*
b.
The branches of the sacral plexus to the buttock pierces it.


c.
The vessels to the buttock on the other hand pierce this fascia.


d.
The fascia of the pelvic floor bears no resemblance to that of the pelvic wall.


e.
The fascia of the pelvic viscera is loose in conformity with the distensibility of the organs.

26.
The obturator internus, find the FALSE statement:


a.
Arises from the whole membrane and bony margin of the obturator foramen.


b.
Fans towards the lesser sciatic foramen.

*
c.
It is inserted to the lateral surface of the greater trochanter.


d.
Is a lateral rotator of the femur.


e.
Is not supplied by L5, S1, S2.

27.
As regards the pelvic fascia, the following are TRUE except:


a.
There is a parietal layer and a visceral layer.


b.
Over the non-expensile structures, it is a strong membrane.

*
c.
Fascia extends over bare bone.


d.
Over expansile parts, the fascia is made up of loosely felted areolar tissue.


e.
Over the pelvic wall, it is firmly fused with periosteum.

28.
Regarding the fascia of Waldeyer, the following are TRUE except:


a.
Is attached in the hollow of the sacrum.

*
b.
Is vascular


c.
Is a rectal support.


d.
Is attached to the ano-rectal junction.


e.
Is not part of the lateral rectal ligament.

29.
As regards the pelvic peritoneum:


a.
It does not reach the pelvic floor in the male.


b.
The rectovesical fascia (of Denonvilliers) is a fusion of pelvic peritoneum.


c.
The pelvic peritoneal cavity is occupied by coils of the ileum and sigmoid colon.

*
d.
In the female, the peritoneum is firmly attached to the anterior aspect of the body of the uterus.


e.
The posterior fornix of the vagina is anterior to the pouch of Douglas.

30.
Which of the following structures crosses the posterior surfaces of the obturator internus, gemelli and the quadratus femoris?


a.
The femoral artery


b.
The common iliac veins


c.
The obturator nerve

*
d.
The sciatic nerve


e.
The superior gluteal nerve and artery.

31.
Piriformis muscle, find the TRUE statement:


a.
Leaves the pelvis through the lesser sciatic foramen.


b.
Is inserted into the lesser trochanter.


c.
Is a medial rotator of the femur at the hip joint.


d.
Is supplied by the sciatic nerve.

*
e.
None of the above.

32.
Concerning the piriformis muscle, all the statements are TRUE except:


a.
Has the sciatic nerve emerging inferior to its lower border.


b.
Is attached to the greater trochanter.


c.
Emerges from the pelvis through the greater sciatic foramen.


d.
Is a lateral rotator of the thigh at the hip.

*
e.
Is posterior to gluteus medius in the buttock.

33.
The prostatic urethra has the openings of the:


a.
Vas deferens


b.
Ducts of the bulbo-urethral glands.

*
c.
Prostatic utricle


d.
Ejaculatory ducts.


e.
(c) and (d)

34.
Varicocoele of the pampiniform plexus on the right side:


a.
Is very uncommon.


b.
Occurs about as often as that on the left side.


c.
May be the result of testicular torsion.


d.
May be associated with a long, redundant mesorchium.

*
e.
None of the above.

35.
The bulbourethral glands of the male are embedded in which  muscle fibres?

*
a.
Sphincter urethrae


b.
Terminal bronchioles


c.
Superficial transverse perineus


d.
Bulbospongiosus


e.
Corpora cavernosus

36.
The fossa navicularis is located within which of the following structures?

*
a.
The glans penis


b.
The corpus spongiosum


c.
The bulb of the penis


d.
The urogenital diaphragm


e.
The prostatic urethra.

37.
The urethra does not traverse which of the following structures?


a.
The prostate

*
b.
The clitoris


c.
The urogenital diaphragm


d.
The corpus spongiosum


e.
The glans penis

38.
The testis, find the FALSE statement:


a.
Is drained by lymph vessels passing to the external iliac lymph nodes.


b.
Descends into the scrotum just before birth.


c.
Is covered by the tunica albuginea.


d.
The epididymis lies on its anterior aspect.

*
e.
Right testicular vein drains into the renal vein

39.
Regarding the scrotum, find the TRUE statement:


a.
The scrotal subcutaneous tissue has fat.


b.
Has the voluntary muscle called dartos.


c.
It is divided by a septum into right and left compartments which communicate.

*
d.
The tissues of the scrotum are lax and can fill with fluid.


e.
In cryptorchidism, the scrotum is well developed.

40.
The male urethra, find the TRUE statement:


a.
Develops entirely from the urogenital sinus.

*
b.
Receives the ejaculatory ducts in its prostatic part.


c.
Is narrowest in its prostatic part.


d.
Is lined along its whole length by transitional epithelium.


e.
Has no glands opening into it.

41.
Regarding the processus vaginalis, find the TRUE statement:


a.
It covers only the testis and no part of the epididymis.

*
b.
Is a process of peritoneum.


c.
Is not found in females.


d.
Forms a covering for the adult ductus (vas) deferens.


e.
Lies outside the internal spermatic fascia.

42.
Regarding the colliculus seminalis or verumontanum, find the TRUE statement:


a.
Bears the prostatic utricle.


b.
It is found on the posterior wall of the prostatic urethra.


c.
Ejaculatory ducts open just lateral to this area.


d.
It is part of the urethral crest.

*
e.
All the above

43.
Regarding erection of the penis, all are TRUE except:


a.
Is induced by parasympathetics.


b.
There is vasodilation of helicive arteries.

*
c.
There is increased venous output.


d.
Sympathetics lead to reduced blood flow to the penis after ejaculation.


e.
Erectile bodies prevent (block) blood flow from the cavenous spaces during erection.

44.
Regarding the crus of the penis, find the FALSE statement:


a.
Attachment is on the inferior ramus of the pubis.


b.
Forms part of erectile tissue in male.


c.
Joins its fellow anterior to the lower end of the symphysis pubis.

*
d.
Is continuous with the carpora spongiosum.


e.
Is located at the junction between the deep and superficial perineal spaces/pouches.

45.
Regarding blood supply to the penis, find the FALSE statement:


a.
The superficial dorsal vein of penis ends in the saphenous vein.


b.
Venous return from the corpora is entirely by the deep dorsal vein.

*
c.
The deep dorsal veins are paired.


d.
Whereas the superficial is single.


e.
The artery to the bulb supplies the corpus spongiosum, and glans.

46.
The vas deferens is related to the following structures except:


a.
Inferior epigastric artery.


b.
Prostate

*
c.
Trigone of urinary bladder


d.
Cowper's glands.


e.
Pampiniform plexus.

47.
The seminal vesicles, find the FALSE statement:


a.
Are covered by fascia Denonvilliers.

*
b.
Each joins the ejaculatory duct.


c.
Lie superior to vas deferens.


d.
Derive innervation from spinal motor nerves.


e.
They develop from mesonephric duct.

48.
The prostate, find the FALSE statement:


a.
Is divided into two parts, as per rectal examination, by a median groove posteriorly.


b.
Prostatic plexus lies between the capsule and fibrous sheath.


c.
Blood supply comes from the inferior vesical and  rectal artery.


d.
It contains the homologue of uterus called utriculus.

*
e.
Lymphatics join a chain of nodes along external iliac vessels.

49.
The sphincter urethrae is:


a.
A smooth muscle


b.
Also called the internal urethral sphincter.


c.
Innervated by the nervi erigentes.


d.
Called the sphincter vaginae in the females.

*
e.
Attached to the perineal body.

50.
The following are FALSE statements about membranous urethra except:


a.
Has openings of Cowper's glands.


b.
Is lined by simple squamous epithelium.


c.
Is about 2.5 cm long.


d.
Is surrounded by the sphincter urethrae.

*
e.
Is a tube made up of striated muscle.

51.
Regarding the urethra, find the FALSE statement:

*
a.
Penile urethra is devoid of glands except at the navicular fossa.


b.
The navicular fossa is the most distal part of the urethra.


c.
Membraneous urethra is within the deep perineal pouch.


d.
Prostatic urethra is the most distensible.


e.
The urethra is lined mostly by the stratified or pseudostratified columnar epithelium.

52.
The following lobe of the prostate has no glandular tissue:

*
a.
Anterior


b.
Median


c.
Left lateral


d.
Posterior


e.
Right lateral

53.
Regarding the bulbo urethral glands, all are TRUE except:


a.
Occupy deep perineal space.

*
b.
Lie above sphincter urethrae


c.
Ducts pour into the bulbous urethra.


d.
Derive the sympathetics from S2, S3 and S4.


e.
Contribute 1% of the semen.

54.
Regarding ejaculation, post ganglion  sympathetic fibres are distributed to all the following except:

*
a.
Glans penis or clitoris


b.
Prostate gland


c.
Seminal vesicles


d.
Vas deferens


e.
Internal urethral sphincter.

55.
Regarding the male urethra, find the TRUE statement:


a.
It is 10 - 15 cm long.


b.
The prostatic part is the narrowest part.


c.
The spongy part passes through corpus cavenosum.


d.
The membranous part is found outside the superficial perineal pouch.

*
e.
The prostatic part has a longitudinal crest (urethral crest or verumontanum) on its posterior wall.

56.
The middle lobe of the prostate is the part between:


a.
Rectum and prostatic urethra.


b.
Ejaculatory ducts and the rectum.

*
c.
Ejaculatory ducts and the prostatic urethra.


d.
Pubis and prostatic urethra


e.
Pubis and rectum.

57.
The ductus (vas) deferens is connected to the prostatic urethra by:


a.
The prostatic utricle.


b.
Gartner's duct.

*
c.
The ejaculatory duct.


d.
The urachus.


e.
None of the above.

58.
Concerning the vas deferens, all of the following statements are true except:


a.
It emerges from the deep inguinal ring and passes around the lateral margin of the inferior epigastric artery.

*
b.
It crosses the ureter in the region of the ischial spine.


c.
The terminal part is dilated to form the ampulla.


d.
It lies on the posterior surface of the prostate but is separated from  it by the peritoneum.


e.
It joins the duct of the seminal vesicle to form the ejaculatory duct.

59.
Following rupture of the beginning of penile urethra, there is extravasation of urine to:


a.
Lesser pelvis


b.
Thigh


c.
Penis including glans penis

*
d.
Anterior abdominal wall.


e.
The gluteal region

60.
On the ovary, find the TRUE statement:


a.
Fossa is bounded anteriorly by urethra and internal iliac vessels.


b.
Presents tubal and uterine extremities in nulliparous females.

*
c.
Right ovarian vein drains into inferior vena cava.


d.
Intraperitoneal with mesovarium.


e.
Supplied by ovarian and uterine arteries.

61.
The following statements regarding the female external genitalia are TRUE except:

*
a.
Mons pubis


b.
Vestibule


c.
Clitoris


d.
Labia minora


e.
Greater vestibular glands of Bartholin

62.
The uterus, find the FALSE statement:


a.
Contained within the broad ligament

*
b.
Is more vascular and slightly enlarged during menstruation


c.
Commonest position in nulliparous female is retroverted and retroflexed.


d.
Lymphatics from the cervix pass to lateral aortic and pre-aortic lymph nodes.


e.
The endometrium is similar and undergoes menstrual changes as that of the uterine tubes and vagina.

63.
The following statements concerning the uterus are TRUE except:


a.
The uterine veins drain into the internal iliac veins.


b.
the fundus is part of the uterus above  the openings of the uterine tubes.


c.
The nerve supply to the uterus is from the inferior hypogastric plexus.

*
d.
The anterior surface of the cervix is completely covered with peritoneum.


e.
The long axis of the uterus is usually bent anteriorly on the long axis of the vagina (anteversion).

64.
Concerning the broad ligament of the uterus, all the following statements are true except:


a.
The ovarian and uterine arteries anastomose between its layers of peritoneum.


b.
It extends from the lateral margins of the uterus to the side wall of the pelvis.

*
c.
The ovary lies between its anterior and posterior layers.


d.
The suspensory ligament of the ovary extends from the attachment of the mesovarium to the lateral pelvic wall.


e.
The uterine tube lies within its upper free border.

65.
Which of the following structures is not located in the vulva?


a.
The mons pubis


b.
The labia majora


c.
The labia minora


d.
The clitoris

*
e.
The superficial transverse perineus muscle

66.
The fallopian tube, find the TRUE statement:

*
a.
Is developed from the paramesonephric duct or the Mullerian duct.


b.
Is lined wholly by non ciliated columnar epithelium.


c.
Is narrower laterally.


d.
Undergoes cyclical changes.


e.
Is attached to the lateral end of the uterus by ovarian frimbria.

67.
Regarding the lateral cervical (Cardinal, Mackendrodt's) ligament:


a.
Extends from the lateral pelvic wall to the cervix, uterus and entire length of the vagina.

*
b.
Its located at the base of the broad ligament.


c.
Is regarded as the main ligamentous support of the uterus.


d.
The ureter runs along the upper portion of this ligament.


e.
The uterine artery pierces the ligament near its inferior attachment.

68.
Regarding the structure of the uterus:


a.
Has a myometrium which greatly increases in size during pregnancy.


b.
Mences is composed of blood, glandular epithelium and stomal elements.


c.
The compact and spongy layers are jointly referred to as the stratum functionalis.


d.
The perimetrium is also known as the serosa.

*
e.
All the above

69.
As regards the external genitalia, all are TRUE except:

*
a.
The penis in male is homologous with the female labia minora.


b.
The female labia majora is homologous with scrotum.


c.
Clitoris has glans clitoris.


d.
The clitoris bears a frenulum.


e.
The clitoris has a prepuce.

70.
Regarding greater vestibular glands, all are TRUE except:

*
a.
Are two on either side


b.
Are located within the vestibule.


c.
Are homologous of the male bulbo-urethral glands.


d.
They bear ducts which are approximately 2 cm.


e.
They are a source of lubrication to the vagina.

71.
The following nerves supply the clitoris:


a.
Ilio inguinal nerve.


b.
Genital femoral

*
c.
Analogue of dorsal nerve of penis


d.
Posterior labial nerve.


e.
Perineal branch of posterior cutaneous nerve of thigh.

72.
The pouch of Douglas, find the FALSE statement:


a.
Pus in it may be drained through the posterior fornix of the vagina.


b.
May contain the sigmoid colon.


c.
Is also known as the recto uterine pouch.

*
d.
Has the sacrum as its immediate posterior relation.


e.
It is made of peritoneum.

73.
Regarding the uterine cervix, find the FALSE statement:


a.
The upper end of the endocervical canal is lined by a single layer of tall columnar epithelium.

*
b.
The junction between vaginal and endocervical epithelium is gradual.


c.
Main bulk of the cervix is tough collagenous connective tissue.


d.
The lower part of the endocervicx is lined by a thick stratified squamous epithelium.


e.
Has a mucus-secreting glands whose secretion lubricates the vagina.

74.
The uterine tubes, find the FALSE statement:


a.
Is lined by a single layer of columnar epithelium which are of two types.


b.
The ratio of ciliated and non ciliated cells one to one.

*
c.
The ciliated cells propel the sperm towards the ova.


d.
The secretions of the non ciliated cells are for nutrition and protection of the ovum.


e.
The epithelium is supported by a highly vascular connective tissue core.

75.
Regarding the corpus Luteum, find the FASLE statement:


a.
Is a temporary endocrine gland.


b.
Secretes progesterone


c.
Is composed of granulosa luteal cells which contain bright yellow cytoplasm.


d.
Always regresses into corpus  albicans 12 to 14 days after ovulation if there is no pregnancy.

*
e.
Secretes the human chorionic ganadotrophin (HCG).

76.
The vagina receives lubrication from:


a.
Body of uterus

*
b.
Cervix


c.
Transudate from its lamina propria.


d.
Glands of the labia majora.


e.
Mucus glands associated with its epithelium.

77.
The uterine artery, find the TRUE statement:


a.
Usually arises from the internal iliac artery.


b.
Anastomoses with the ovarian artery.


c.
Crosses ureter above the lateral vaginal fornix.

*
d.
All the above.


e.
None of the above.                                 

78.
All the following are found within the broad ligament of the uterus except the:


a.
Mesometrium


b.
Mesosalpinix.


c.
Mesovarium.


d.
Round ligament of the uterus.

*
e.
Ureter.

79.
The ovary, all are TRUE except:


a.
Is an oval organ encapsulated in the tunica albuginea.

*
b.
Follicles are found in its medulla.


c.
The medulla is highly vascular.


d.
The blood vessels, nerves and lymphatics to the ovary pass through the broad ligament.


e.
In the cortex are the corpora lutea, corpora albicantes and atretic follicles.

80.
The vagina, find the FALSE statement:


a.
Is H shapped


b.
Is located between the urethra and the perineal body.

*
c.
Has bulbo-urethral glands opening in its walls.


d.
Its lymphatics drain to the superficial inguinal nodes.


e.
Is a potential space in the virgin.

81.
As regards the ovary, all are TRUE except:


a.
The mesovarium is attached equatorially around the ovary.


b.
Pain in the ovary may be referred to the hip joint.


c.
The ovary in its normal position can't be reached through the vagina.


d.
Its supplied by the ovarian artery, a branch of the abdominal aorta.

*
e.
Its lymph drains to the superficial inguinal nodes.      

82.
Regarding the uterus, all are TRUE except:

*
a.
Normal uterus is mobile


b.
Its position is altered by the state of the bladder.


c.
In the majority of women, it is anteverted and ante-flexed.


d.
Its homologue in males is the prostatic utricle.


e.
It is related to the superior aspect of the urinary bladder.

83.
The following are related to the vagina except:


a.
The urethra.


b.
Pouch of Douglas.


c.
Ampulla of the rectum.

*
d.
The ovaries.


e.
Perineal body.

84.
The most important support of the uterus is:


a.
Broad ligament.

*
b.
Round ligament.


c.
Pubocervical ligament.


d.
Transverse cervical ligament.


e.
Pelvic fascia.

85.
The vaginal canal communicates with:


a.
Rectum

*
b.
Urethra


c.
Recto vesical pouch


d.
Recto uterine pouch


e.
Para urethral glands.

86.
Which of the following structures may not be palpated by a vaginal examination?


a.
Sigmoid colon.

*
b.
Ureters.


c.
Perineal body.


d.
Ischial spines.


e.
All the above.

87.
Features of the anal canal above the pectinate line include the following except:

*
a.
Lymph vessels pass to superficial inguinal lymph nodes.


b.
Arterial supply is by superior rectal artery


c.
Nerve supply is by pelvic splanchnic nerves.


d.
Site of internal haemorrhoids.


e.
Location of anal columns of Morgagni.

88.
The external anal sphincter, all are features except:


a.
Surrounds the lower 2/3rds of anal canal.

*
b.
Subcutaneous part is attached to coxyx.


c.
Deep part maintains continance


d.
Deep part is the one damaged in perineal tear during delivery.


e.
The deep sphincter is supplied by the perineal branch of the pudendal nerve.

89.
The ischio-rectal fossa, find the FALSE statement:

*
a.
Has the external anal sphincter on its lateral wall.


b.
Is relatively avascular.


c.
Is filled with fat which allows anal canal and vagina to expand.


d.
The left one communicates with the right anterior to the anal canal.


e.
Its close relationship with the anal canal makes it vulnerable to infection.

90.
The pudental canal, find the TRUE statement.


a.
Is located on the medial wall of the ischio-rectal fossa.


b.
One of its walls is contributed to by the fascia lata.


c.
The fascia over the obturator internus never contributes to its wall.


d.
Is of no clinical importance.

*
e.
Has the internal pudendal artery as a content.

91.
Regarding the ischiorectal fossa, find the FALSE statement:


a.
Infection may spread from one fossa to the other.

*
b.
Pudendal canal of Alcocks lies on its medial wall.


c.
Infection reaches the fossa from anal mucosa.


d.
Its a potential space to allow for expansion of anal canal during defecation.


e.
Lateral wall is formed by the lower part of obturator internus muscle.

92.
Which of the following structures will not be paralysed by local anaesthesia introduced into the pudendal canal:


a.
Deep transverse perineal muscle.


b.
Sphincter urethra.


c.
Deep part of external anal sphincter.

*
d.
Piriformis


e.
Bulbo spongiosus muscle.

93.
The following are TRUE about the external anal sphincter except:

*
a.
Is the lower most part of the circular muscle of the intestine.


b.
Is composed of three parts.


c.
Is supplied by the inferior rectal nerve.


d.
Is voluntary.


e.
The superficial part is the only one attached to the perineal body.

94.
Regarding the anal canal, the following features are TRUE except:

*
a.
Internal haemorrhoids are due to varicosed inferior rectal veins.


b.
Most frequent at 3, 7 and 11 O'clock.


c.
Anal columns are connected by anal valves.


d.
Anal fissure is innervated by inferior rectal nerve.


e.
Exhibits porto systemic anastomosis of veins.

95.
The rectum, find the TRUE statement:


a.
Peritonised anteriorly in the distal 1/3rd.


b.
Ampulla is convex to the right.

*
c.
Has 3 valves of Houston.


d.
Has a short mesentery.


e.
All the above.

96.
The pudendal nerve, find the FALSE statement:


a.
Runs on the lateral wall of the ischio rectal fossa.

*
b.
Is part of the pelvic splanchnics.


c.
Arises from the 2nd, 3rd and 4th sacral nerves.


d.
Gives off the dorsal nerve of the penis (clitoris).


e.
Sensory to the labia majora.

97.
The following is TRUE of the anal canal except:


a.
Is partly surrounded by striated muscle.


b.
Has a lymphatic drainage to the superficial inguinal lymph nodes.

*
c.
Has anal columns in its lower third.


d.
Has a venous drainage to the systemic system.


e.
Partly develops from the ectoderm.

98.
The following structures can be palpated opposite the terminal phalanx during a rectal examination except:


a.
Posterior surface of the bladder.


b.
Rectovesical pouch

*
c.
Prostate gland


d.
Vas deferens


e.
Recto uterine pouch.

99.
Levator ani muscle, find the TRUE statement:


a.
Is supplied by the perineal branch of the fourth sacral nerve and the perineal branch of the pudendal nerve.


b.
Has coccygeus as part of it.


c.
Forms a strong sphincter around the vagina.

*
d.
All of the above


e.
None of the above.

100.
The following are found in the superficial perineal pouch except:


a.
Posterior labial or scrotal nerve.


b.
Bulbo spongiosus muscles.


c.
Ischio cavernosus muscle.


d.
Superficial transverse perineal muscle.

*
e.
Deep transverse perineal.

101.
Which of the following structures is found in the deep perineal pouch of the female?


a.
Deep dorsal vein of the clitoris.

*
b.
Deep transverse perineal muscle.


c.
Greater vestibular glands.


d.
Para urethral glands.


e.
Vestibular bulb.

102.
The deep perineal space contains which of the following structures?


a.
The prostate


b.
The bladder


c.
The uterus

*
d.
The urethra


e.
The superficial perineal muscles.

103
Which of the following muscles does not attach to the central tendon of the perineum?


a.
The bulbospongiosus


b.
The superficial transverse perineus

*
c.
The ischiocavernosus


d.
The pubovaginalis


e.
The deep transverse perineal

104.
Contents of the deep perineal pouch (space) include:


a.
Deep transverse perineal muscle


b.
Membranous urethra


c.
External urethral sphincter


d.
Pudental vessels

*
e.
All of the above           

105.
Concerning the levator ani muscle:


a.
Consists of smooth muscle.


b.
Has no sphincter action in relation to the rectum or anal canal.


c.
Plays no part in maintaining the position of the uterus.

*
d.
Is supplied by the perineal branch of the pudendal nerve.


e.
Has no attachment to bone inside the pelvis.

106.
The following are perineal muscles except:


a.
Deep transversus perineal


b.
Superficial transversus perineal


c.
Sphincter ani externus


d.
Bulbo spongius 

*
e.
Ilio coccygeus

107.
Regarding superficial perineal fascia, find the TRUE statement:


a.
Its fatty layer continues forward into labia majora.

*
b.
Its deep layer is called membranous layer.


c.
Its deep layer is continuous with Camper's fascia.


d.
Its deep layer is fused with the perineal raphe.


e.
Its fatty layer is continuous over the penis.

108.
The pelvic diaphragm is formed by the:

*
a.
Coccygeus & lavator ani.


b.
Perineal membrane.


c.
Obturator internus & levator ani.


d.
Superficial & deep transverse perineal muscle.


e.
Sphincter urethrae and the deep transverse perineal muscle.

109.
Regarding the development of the testis, find the FALSE statement.


a.
Gonads differentiate into morphological characteristics by 7th week.

*
b.
Appendix testis is the remains of the mesonephric duct.


c.
The mesonephric ducts give rise to seminal vesicles.


d.
Estrogens stimulate growth of clitoris, uterus and labia.


e.
Sertoli cells produce non-steroidal substances that cause regression of paramesonephric ducts.

110.
Regarding the urogenital folds, find the FALSE statement:


a.
Develop into body of penis


b.
Develop into glans penis


c.
Develop into labia minora

*
d.
Develop into labia majora


e.
Develop into Bartholin's gland.

111.
Mesonephric duct derivatives include, find the FALSE statement:

*
a.
Tunica vaginalis


b.
Ductus deferens


c.
Ejaculatory duct


d.
Epididymis


e.
Gartner's duct.

112.
Regarding the development of the urethra, find the FALSE statement:


a.
Epithelium is derived from endoderm entirely.


b.
The surrounding connective and smooth muscle tissues are derived from splanchnic endoderm.

*
c.
Proliferation of prostatic urethra forms an out growth, the prostate.


d.
The ejaculatory ducts is an out growth of the male urethra.


e.
Starts to develop at the allantois.

113.
A urachal fistula represents a remnant of the:


a.
Cloaca

*
b.
Allantois


c.
Urogenital sinus


d.
Hind gut


e.
Mesonephric duct.

114.
As regards the blood supply to the pelvic cavity:


a.
The veins tend to lie anterior and to the right of the arteries.


b.
The internal iliac is the sole source of blood supply to this cavity.


c.
The vessels lie outside the parietal pelvic fascia.

*
d.
The visceral branches do pierce the parietal pelvic fascia.


e.
The posterior branch of the internal iliac is larger than the anterior one.

115.
As regards the veins of the pelvis, find the FALSE statement:


a.
They are valveless

*
b.
The rectal plexus entirely drains into the internal iliac veins.


c.
The internal vertebral plexus drains into the lateral sacral veins.


d.
Blood from the pelvic viscera can return to the superior vena cava through the azygous system.


e.
Secondary carcinomatous deposits may appear in the vertebrae from primary growths in any of the pelvic viscera.

116.
Lymphatic drainage of the scrotum end in:

*
a.
Medial group of superficial inguinal nodes.


b.
Gland of cloquet


c.
Lumbar lymph nodes at the level of 2nd lumbar vertebra.


d.
External iliac lymph nodes.


e.
Porta hepatis nodes.

117.
Concerning pelvic vessels, find the FALSE statement:


a.
External iliac vein is formed behind the mid-inguinal ligament as a continuation of femoral vein.


b.
External iliac vein is medial to artery.

*
c.
External iliac is crossed anteriorly by the ureter anterior to the sacral promontary.


d.
Internal iliac divides into branches at the upper border of the greater sciatic foramen.


e.
Median sacral artery is a branch of abdominal aorta.

118.
The following are posterior divisions of internal iliac artery:


a.
Lateral sacral

*
b.
Ilio-lumbar artery.


c.
Superior gluteal artery.


d.
All of the above


e.
None of the above

119.
The dermatomes covering the perineum include:


a.
L2, S1, and S2


b.
L5, S2, S3 and S4

*
c.
S2, S3 and S4


d.
S3, S4 and S5


e.
S3 and S4

120.
The pelvic splanchnic:                                


a.
Have fibres from spinal cord segments S2, S3, S4


b.
Are motor to the detrusor


c.
Are active during ejaculation


d.
(a),(b)  and (c)

*
e.
(a) and (b)

121.
Branches of the anterior trunk of internal iliac artery include:


a.
Middle rectal


b.
Superior gluteal


c.
Inferior gluteal


d.
Vaginal

*
e.
All the above

122.
The roots of the lumbo sacral trunk are:


a.
L3 & L4


b.
L3, L4 & L5

*
c.
L4 & L5


d.
L4, L5 & L6


e.
L5 & L6

123.
The pelvic parasympathetics (nervi erigentes):


a.
Arise by several rootlets from the anterior surfaces of S2, S3 and S4.


b.
Fibres pass into the inferior hypogastric plexuses.


c.
Are distributed to the derivatives of the cloaca.


d.
Cause erection of the penis.

*
e.
All the above.

124.
Regarding autonomics of the pelvic viscera, find the TRUE statement:


a.
The sympathetics are motor to the emptying muscle of the bladder.

*
b.
The parasympathetics of the pelvic cavity supply the gut from the splenic flexure to the rectum.


c.
Sympathetics are secretomotor to the gut.


d.
Sensory supply to the viscera is parasympathetic.


e.
Parasympathetics are motor to the smooth-muscle sphincters.

125.
Which of the following structures does not receive innervation from the branches of the pudendal nerve?


a.
Skin of the penis or clitoris.


b.
Ischiocavernosus muscles.

*
c.
The posterior fornix of the vagina.


d.
Urethral sphincter.


e.
Labia majora.

126.
The trigome:


a.
Lies between urethral openings.

*
b.
Overlies the anterior prostatic lobe.


c.
Has many mucous folds.


d.
Has valves over ureteric openings.


e.
Is in contact with the pelvic diaphragm.

127.
These parameters are used greatly when doing pelvic assessment:


a.
Sub- pubic arch


b.
Pelvic axis.


c.
Prominence of ischial spines.


d.
Sacral curve.

*
e.
True conjugate.

128.
The sacral segments of the spinal cord may be crushed by the fracture of:

*
a.
The first lumbar vertebra


b.
The 3rd lumbar vertebra


c.
The fifth lumbar vertebra


d.
The first and second sacral vertebrae


e.
None of the above

129.
Concerning the pelvic part of the ureter, the following statements are true except:


a.
It enters the bladder at the upper lateral angle of the trigone.

*
b.
The ureter enters the bladder by passing directly through its wall, there being no valvular mechanism at its entrance.


c.
It has a close relationship to the ischial spine before it turns medially toward the bladder.


d.
The blood supply of the distal part of the ureter is from the superior and inferior arteries and inferior.


e.
It enters the pelvis in front of the bifurcation of the common iliac artery.

130.
Regarding the female ureter:

*
a.
Crosses the lateral fornix of vagina.


b.
Crosses anterior to ovarian artery.


c.
Crosses above the broad ligament.


d.
It lies closer to the cervix on the right than on left side.


e.
It enters the urinary bladder in front of the vagina.

131.
Concerning the pelvic ureters, find the FALSE statement:


a.
Crosses anterior to uterine artery.

*
b.
Lies just above the lateral vaginal fornix.


c.
Is contained in the broad ligament.


d.
Is crossed by uterine artery at right angles at level of internal os.


e.
Gets blood supply partly from obturator artery.

132.
The following are TRUE about the female ureter except:


a.
Is related to the ovarian fossa.


b.
Is related to the obturator neurovascular bundle.


c.
Runs below the uterine artery.

*
d.
Runs behind the internal iliac artery.


e.
Runs through the bladder wall obliquely.

133.
Bladder functions are regulated by which of the following combinations of inputs:


a.
Vagal and sacral efferent fibres only


b.
Vagal, sacral and descending fibres from the cerebral cortex


c.
Lumbar and sacral efferent fibres only

*
d.
Lumbar, sacral and descending fibres from the cerebral cortex


e.
Lumbar, thoracic and cervical fibres only.

134.
The urinary bladder:


a.
Is located both in the pelvis and abdomen in a child.


b.
Rises to the abdomen in the adults if it fills.


c.
Has its apex lying behind the upper margin of the symphysis pubis.

*
d.
All the above.


e.
Only A and C.

135.
The following are true about the urinary bladder except:


a.
It lies above the level of the pelvic inlet in the new born.


b.
It lies against the prostate in the males.


c.
It is connected to a remnant of the urachus.


d.
Its sphincter vesical is involuntary.

*
e.
Its sphincter urethral is supplied by sympathetics.
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